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	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	A 
	Easy 
	PS 1: Chemical Reaction 
	SPI 0807.9.3 Elements vs Compounds [99152]
	D104275

	2
	A 
	Easy 
	PS 1: Chemical Reaction 
	SPI 0807.9.3 Elements vs Compounds [99152]
	D104278

	3
	A 
	Easy 
	PS 1: Chemical Reaction 
	SPI 0807.9.3 Elements vs Compounds [99152]
	D103720

	4
	C 
	Easy 
	PS 1: Chemical Reaction 
	SPI 0807.9.8 Physical vs Chemical Change [99157]
	D55394

	5
	A 
	Easy 
	PS 1: Chemical Reaction 
	SPI 0807.9.8 Physical vs Chemical Change [99157]
	D62409

	6
	D 
	Easy 
	PS 1: Chemical Reaction 
	SPI 0807.9.8 Physical vs Chemical Change [99157]
	D62926

	7
	C 
	Moderate 
	PS 1: Chemical Reaction 
	SPI 0807.9.8 Physical vs Chemical Change [99157]
	D86284

	8
	C 
	Hard 
	PS 1: Chemical Reaction 
	SPI 0807.9.8 Physical vs Chemical Change [99157]
	D86281

	9
	A 
	Easy 
	PS 2: Properties of Matter 
	SPI 0807.9.7 Calculate Density [99156]
	D104138

	10
	D 
	Easy 
	PS 2: Properties of Matter 
	SPI 0807.9.7 Calculate Density [99156]
	D107094

	11
	B 
	Hard 
	PS 2: Properties of Matter 
	SPI 0807.9.7 Calculate Density [99156]
	D108067

	12
	A 
	Easy 
	PS 2: Properties of Matter 
	SPI 0807.9.9 Periodic Table of Elements [99158]
	D104271

	13
	C 
	Easy 
	PS 1: Chemical Reaction 
	SPI 0807.9.8 Physical vs Chemical Change [99157]
	D86165

	14
	B 
	Easy 
	PS 1: Chemical Reaction 
	SPI 0807.9.8 Physical vs Chemical Change [99157]
	D65804

	15
	B 
	Easy 
	PS 1: Chemical Reaction 
	SPI 0807.9.8 Physical vs Chemical Change [99157]
	D86283
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	Question 1 of 15

	Elements in group 1 of the periodic table are metals with one valence electron. These elements are called ___________ metals.
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	A.
	alkali 

	[image: image2.wmf]
	B.
	alkaline

	[image: image3.wmf]
	C.
	transition
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	D.
	noble

	


	Question 2 of 15

	The last known naturally occurring element on the periodic table of elements is ___________.
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	A.
	uranium
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	B.
	francium
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	C.
	radium
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	D.
	osmium

	


	Question 3 of 15

	An ionic bond is a type of chemical bond that is created by the attraction between two oppositely charged particles. An ionic bond is formed between a non-metal and ____________.
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	A.
	a metal

	[image: image10.wmf]
	B.
	another non-metal
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	C.
	a gas

	[image: image12.wmf]
	D.
	a metalloid

	


	Question 4 of 15

	Ice melting into water is an example of 
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	A.
	a chemical change.

	[image: image14.wmf]
	B.
	inertia.
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	C.
	a physical change.
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	D.
	density.

	


	Question 5 of 15

	An aluminum can is crushed flat in a can crusher. The crushing of the aluminum can is an example of 
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	A.
	a physical change.

	[image: image18.wmf]
	B.
	a chemical change.
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	C.
	density.
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	D.
	inertia.

	


	Question 6 of 15

	The statue of Liberty was made of shiny, orange-brown copper. The metal has interacted with carbon dioxide and water over the years to form copper carbonate, and has made Lady Liberty green over time. The copper changing from orange-brown to green is an example of 
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	A.
	inertia.
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	B.
	a physical change.
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	C.
	density.
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	D.
	a chemical change.


	


	Question 7 of 15

	Which of the following represents a physical change?
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	A.
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	B.
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	C.
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	D.
	[image: image32.png]




	


	Question 8 of 15

	Which of the following represents a chemical change?
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	A.
	a light bulb breaking into small pieces
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	B.
	iron being cut into thin sheets
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	C.
	iron rusting after being left outside
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	D.
	water freezing to form ice


	


	Question 9 of 15

	_____________ is the amount of mass in a given volume.
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	A.
	Density
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	B.
	Matter
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	C.
	Length
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	D.
	Weight

	


	Question 10 of 15

	Density should be measured in ___________.

	
	
	
	
	

	[image: image41.wmf]
	A.
	kilograms

	[image: image42.wmf]
	B.
	square centimeters 
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	C.
	grams per square centimeter
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	D.
	grams per cubic centimeter

	


	Question 11 of 15

	Which of the following has the highest specific gravity?
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	A.
	wood

	[image: image46.wmf]
	B.
	lead
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	C.
	aluminum
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	D.
	water

	


	Question 12 of 15

	An atom's outer energy level is considered full if it has ___ electrons in it.
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	A.
	8
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	B.
	10
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	C.
	12
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	D.
	14

	


	Question 13 of 15

	Matter is conserved in which of these chemical equations?
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	A.
	[image: image54.png]2C + Oz = CO3





	[image: image55.wmf]
	B.
	[image: image56.png]Hz + Oy = H20





	[image: image57.wmf]
	C.
	[image: image58.png]Zn 4 2HC| == ZnCly + Hp
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	D.
	[image: image60.png]NaOH + MgCl; — NaCl + Mg(OH)z





	


	Question 14 of 15

	When the space shuttle blasts into orbit, a hot gas forms when hydrogen and oxygen join to make water. This helps the space shuttle to blast into orbit. The formation of this gas is an example of 
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	A.
	a physical change.
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	B.
	a chemical change.
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	C.
	density.
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	D.
	inertia.

	


	Question 15 of 15

	Which of the following represents a physical change?
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	A.
	burning a candle
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	B.
	freezing of water
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	C.
	rusting of iron
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	D.
	lighting a match
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